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A local band pays $5000 to record its first
album and $0.15 for each CD made.

The band pays $7000 to record its second
album and $0.10 for each CD made.

How will the graph of the relationship between
the total cost and the number of CDs made for
the second album differ from the graph for the
first album?

The graph of the line for the second album
will start

lower on the vertical axis and be steeper.
higher on the vertical axis and be steeper.

lower on the vertical axis and be less
steep.

higher on the vertical axis and be less
steep.




image6.png
‘The total cost for an extra large pizza ata
restaurant is $14.50, plus $1.25 for each
topping.

Which of the following equations represents
the relationship between the total cost. C, in
dollars, and the number of toppings. n?
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Mia sells T-shirts from a booth at a market.
She pays $30 to rent the booth. Each T-shirt
costs her $1.50, and she sells them for $7.50
each.

Her goal is to make $200 after she pays for
the booth and the T-shirts.

What is the minimum number of T-shirts
Mia must sell to reach her goal?

a 27
b 29
c 34
39

o
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‘The total cost to repair a fridge. C, in
dollas, can be represented by the equation

C = 60r + 30, where 1 is the repair time in
hours.

Which of the following statements is true
about this relationship?

‘The hourly rate is $90.
‘The fixed fee is $90.

‘The hourly rate is $60, and the fixed fee
is $30.

‘The hourly rate is $30. and the fixed fee
is $60.
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A relationship is represented by the following
graph.
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Which equation represents this relationship?

C=n+2
C=n+1
C=m+2
Cc=m+1
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‘The total cost for T-shurts at Team Tops 15
‘made up of a set-up fee and a charge for each
‘Teshirt as represented by the graph

Total Cost vs.
¢ Number of T-Shirts
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Super Shirts has no set-up fee but charges
twice as much for each T-shirt as Team

Tops.

‘Which of the following statements is true?
Tt is always cheaper to order from

‘Super Shirts.

Tt is the same price to order 150 T-shirts
from either company.

1t is cheaper to order 10 T-shirts from
‘Team Tops than from Super Shirts.

1t is more expensive to order 20 T-shirts
from Super Shirts than from Team Tops
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Total cost (§)

Two golf courses offer student memberships.

Information about the lincar relationships

between the total cost, C, in dollars, and the
mumber of games played. 7, at these two golf
courses is given below.

c First Golf Course ‘Second Golf Course
grEsmmT——
sof FHHEE A [ amberof Totat cost, €
| games, n ®
« I I 3 51
o 7
N s )
2 I
(| I ° 153
w0 I
11 ‘ u ’ i 12 204
L * >
o 12 5 4
Number of games.

Which of the following statements correctly
describes the two relationships?

@ They are both direct variations.
The first is a direct variation, and the second

is a partial variation with an initial value

of $17.

©  The first is a partial variation with an initial
value of $10, and the second is a direct

variation.

d The first is a partial variation with an initial

value of $10, and the second is a partial

variation with an initial value of $17.
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A company ships CDs in crates of equal size.
‘The graph below shows the relationship
between the total mass of a crate and the
number of CDs it contains.

Total Mass vs. Number of CDs
M
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150 o

100

Total mass (kg)

»n
0 100 200 300 400 500

Number of CDs

Which of the following equations represents
the relationship between the total mass of a

crate, M, and the number of CDs it contains,
n?

M= 0251+ 100
M= 4n + 100
M=025n+ 125

M=4n+ 125
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The total yearly cost of a museum
‘membership is made up of a fee of $25.
plus $5 per visit.

‘Which graph best represents the
relationship between tofal yearly cost. C,
and number of visis. 12

a (] c c
s B
) n
0 0
u & 4 @
+ s
>n >n
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‘The charges on a monthly water bill are
$0.86 per m® of water used plus a service
charge of $4.49.

Let C = total charge, in dollars, and
W = total amount of water used, in m?.

Which equation represents the
relationship between C and w?

FC=4.49 X 0.86w
G C=449w + 086
H C=449 + 086w
J C=(4.49 + 0.86)w
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A sports company uses the equation

C = 8+ 5 to represent the relationship
‘between the total amount charged to rent
acanoe. C, in dollars and the rental time,
£ in hours.

‘What i the initial charge to rent a canoe?
$0
$5
$8

a
b
c
d 13
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AR ANNEMIE P Copt S Since e tad
 cost per ride asshown i the tabe.

Number | Tota
ofrdes | cont

) 0
o 7

“The pask decides 0 reduce is entrance fee by
5.

‘What type of varation i this new relatiousip.
and whatis ts ntal value?

 prtial variaton with an il value of $4
a direct vasiaion with an il vale of S2

 partal variaton with an niial value of 9
@ dnect wadiation with an fniial valo of 90
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‘Which of the following shows data from a

non-linear relation?

n P n P
1 8 2 8
2 5 4 sl
3 2 6 8%
4 | 8 ]
b, P n P
325 3 | 25
10 4.00 6 16
15 | a7s 0 9
20 | 550 12 4
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Fresh Springs Water Company delivers bottled
water.

‘The total cost of the water. C, in dollars. is

represented by C = & + 1.5u, where n s the
mumber of litres

‘Which of the following statements could be
true?

Customers who order more than 1 L of water
will pay

$1 for every 9.5 L of water.

$9.50 for each litre of water

an $8 delivery charge and $1.50 per litre of
‘water.

a$1.50 delivery charge and $8.00 per litre of
‘water.
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Movie Night
There are two payment options for downloading movies from a Web site.
« Option A: Pay $30 for a membership and $2 per movie downloaded.

« Option B: Shown on the grid below.
Total Cost vs. Number of Movies

o
L3
56

Total cost (§)

HH

s/ T T
I
0 125 456780101

Number of movies
Determine under which conditions a person
should select Option A and under which conditions a
‘person should select Option B Justify your answer.
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The total cost at an amusement park is made up of
an admission fee and a cost per ride. Information
about the total cost for n rides last year is shown below.

Total Cost vs. Number of Rides

Total cost (§)

0o 2 4 6 8 10 12 14
Number of rides

“This vear. the cost per ride is reduced from last year,
. but the total cost for 10 rides is the same.
Determiine a possible equation for the total cost. €,
for this year. Include an admission fee and a cost
per ride.

Justify your answer.
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What's the Charge?
‘The table below represents the linear relationship between cost and repair time at an appliance store.

Ropair time,« | Cost,C
) ®)
3 205
6 385
B 505
Detenmine the initial value of this relationship. Show your work.
Initial value:

Is this relationship a direct or a partial variation?
Circle one:  Direct variation  Partial variation
Justify your answer
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Hot New Wheels Value of Car vs. Time
Cybelle and Peter cach buy a car. The v

sraphbelow represents the value of

Cybelle’s car over time. Peter’s car costs less 20000
than Cybelle’s. The value of both cars changes .
at the same rate. €
Determinea possible equation to represent the ¥ 12000
relationship between the value of Peter’s car, 7, s
in dollars, and time, , in years. H

5 8000

4000

0 12345
Time (years)
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Getting Paid
Hannah’s total pay includes a base salary
and a percent of her sales.

The following table shows her total pay for three
different sales levels. Determinc Hannah’s total
pay when her sales are $47 000.

Show your work.

Sales. Total pay
) )
15000 1700
17 500 1825
28 000 2350
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How Many Uniforms?

The cquation € = 20n + 35 represents the relationship between the cost of school volleyball
uniforms. C, in dollars. and the number of uniforms ordered. n.

* The uniform company requires that the school order a minimum of 15 uniforms.
* The school has a maximum of $600 to spend on the uniforms.

Determine the possible values for n and C in this situation.

Show your work.

The possible values for  are
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The table below shows information
about the fotal cost to rent a car and the
distance driven.

———— ——

)
100 s
200 80
300 o5
400 10

‘What information would the C-intercept
and slope of the graph of this linear
relationship give?

@ There is no fixed fee, and the cost per
kilometre is S0.15.

b There is no fixed fee. and the cost per
kilometre s $0.65

© There is a $50 fixed fee. and the cost per
kilometre s $0.15.

d There is a $30 fixed fee. and the cost per
Kilometre is $0.65.
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Two gyms offer fitness classes. The graph
below shows the total cost for the first gym.

Total Cost vs.
Number of Classes
&
200 H
Bl 545
8 120 .
8
]
z 80
40 i
7”
0 2 4 6 8 10

Number of classes

For 4 classes, both gyms have the same total
cost.

‘Which of the following could represent the
total cost for the second gym?

C =60+ 4n

C=40+ 15n

The total cost is made up of a
membership fee of $60 and $10 per class.

The total cost is made up of a
membership fee of $40 and $20 per class.
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The graph below represents Joe’s distance
from a wall as he walks.

Distance From Wall

o vs. Time
£ 6
B
s €4
£3
2%
a
>
o 2 4 6 8
Time (s)

‘Which statement could describe Joe’s walk?

Joe walks toward the wall, stands still and
then walks away from the wall

Joe walks away from the wall, stands still
and then walks toward the wall.

Joe walks toward the wall, stands still and
then continues to walk toward the wall.

Joe walks away from the wall. stands still
and then continues to walk away from
the wall.
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Information about three different relationships
beween C, in dollars, and 7, in hours, is
shown below.
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c=4+05

‘How many of th three relationships
between Cand f have a rate of change of $4
per hour?

0
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